KENDRIYA VIDYALAYA SANGATHAN ,JAIPUR REGION
Pre-Board-111 Examination 2020-21
Computer Science-

Class 12
Time allowed: 3 hours '

General Instructions:

1. This question paper contains two parts A and B. Each part is compulsory.

2. Both Part A and Part B have choices.

3. Part-A has 2 sections:

‘ a. Section - is short answer questions, to be answered in one word or one line.

b. Section - Il has two case studies questions. Each case study has 4 case-based sub-

parts. An examinee is to attempt any 4 out of the 5 subparts.
4. Part-Bis Descriptive Paper.

5. Part- B has three sections ,
El‘\‘ !\f \“ ‘bl 'A"‘A‘, . ! ) nv/f:' l‘ & .‘4‘1' h . L hi
a. Section- lis short answer questncing ?f 2 marks each |n yv 'ICh two question

have internal’ optlons S
b. Section-Il is long answer questloné of 3 marks each in which two questions have
. internal 0p§|ons . : -
N, ‘L c.’ Section-lll is. verylong answer questions of 5 marks each in-which one
question has internal option.

- 116.1¢ All programming questions are to be answered using Python Language only.
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Max marks: 70
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a1 e e weSection=I LA gie |
Select the most appropnate optlon out of the optlons glven for each
questlon. Attempt any 15 questlons from questlon no 1 to 21.°
1 Which of the follow1pg are; valld operators in Python: | 1
(i)>=  (ii)between , .. . (iii) like . @iv) // .
2 | Given the lists L=[1,3(,6,82,5:?|7‘,/1\_1.,9‘2]7' write the output (%f l?f,‘ﬂt(mﬁl) | 1
3 Write the full form of OSV. o o | | 1
4 | Identify the valid gri;hjl‘p‘etjb'bperator in Python from the following a) ? ‘ l
. ! Loy ol |
b)or c)** d)and"‘- s s \ ; |
5 Suppose a tuple T is declctrcd as, T (10, 12, 43, 39), which of the lollowmb 1

1
is incorrect?

a) print(T[1]) b) T[Z] =-29
L c) print(max(T)) ~d) print(len(T))
) ‘ o o | ’ ‘
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6 Write a statement in Python to declare a dictionary whose keys are 2,34 and |\ i
values are Monday, Tuesday and Wednesday respectively. \

7 |A tuple is declared as T= (1,4,7,6,8) What will be the value of sum(T)? \ 1 i

'8 | Name the built-in mathematical function/ method that is used to return an 1
absolute value of a number.

9 | Name the protocol that is used to send emails. 1

10 | Write a statement in Python to open a text file WRITEUP.TXT so that new 1
content can be written in it.

11 | In SQL, name the clause that is used to display the tuples in ascending order | 1
of an attribute. ' :

12 | In SQL, what is the use of IS NULL operator? 1

13 | Write any:one aggregatc functiopused n SQL. - - |1

14 | Which of the followmg 1s a DDL command? T i | 1

a) SELEQT b) ALTER '¢) INSERT d) UPDATE,. ... 1
.15 |\Name the transmlssum medla best suitable for. qonnectmg t9 hllly areas. 1
16 Identlfy the valld declaratlon of L S | | 1
L= ["Men?y 5237, “hello’, ‘605 T ce v e e, |
‘a. dlctlonar)('l b strmg L“(: tuple d hst A VT P T
y G o, A ‘

17 If the following code is executed what will be the output of the followmg . 1
code?l dn 1.““7‘. Ao Do uEce ')\L. s '\ s | .
name—"KVS RO Jammu ' |
print(ame[4:-2]) 1 %o

\ 18 ‘ In SOL, write the query to display the list of tables stored in a de{tabase. 1
‘ : ‘ 1
\ 19 | Write the gxpanded form of RFID. - B S 1

20 | Which of the following typ‘e‘s1 of table constraints will prevent the entry of 1

X dUPlica}PfP.\?\{S? Gl b .. LOhu |;l|: [0 1 (‘ i
a) Unique - b) Distinct '
¢) Primary Key -/ -~ ' d) NULL

21 | Which of the following units measures the speed with which diﬁ‘&{n“gé\ 1
transmitted from one node to another node of a network?
. S ) ) e \ L
(1) KMpfl, (i) KMpl . (iii) Mbps
! N U R 1 4y
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Both the Case study based que

SECTION -11

stions are compulsory. Attempt any 4 sub

parts from each question. Each question carries 1 mark

22,

A store MySports is considering to maintain their inventory using SQL to
store the data. The detail is as follow:

e Name of the database — MySports
* Name of the table — Sports

e The attributes of SPORTS are as follows:

* SCode — character

= SportName — character of size 20
" Noofplayers — numeric

" coachname - character of size 20

Table: SPORTS

SCode | SportName tNotofptl'ayersw Coachname
S001 [€ricket a1 jRajhul Dravid
8002 | Football ., |25¢ ., .. [RoshanlLal ,
S003 .. Hogkey 1 .. [40: .. ; [ Sardar Singh .
80041 -‘ éttcket e 19 S Chetan Sharma
S005 ” ﬁgchety:, x-il:\l.;,:t- iZD‘ P\ T Limbaram

S006 * ‘Shqotmg o 17’\ =T 'Deepika Kumari

a.

Identlfy the attrlbute best sultable to be declared as a primary key

¥ |,| I (LR S

Write the degree and dardmallty of the SPORTS table
I{ (. ll‘ "

Insert the following data ;pto the attributes SCode, SportName and
|

: Ceachname respectlvely in the glven table SPORTS. SCode = S()‘07,

SportName = “Kabbadl” and Noofplayers =15

‘1 1 ! ! o

Which command W1ll he use from the following:
1) ( DELETE Coachname FROM SPORTS; .

|
Someone wants to delete lhe column coachname. - - };
|
ii)} ALTER Coachname FROM SPORTS f

iv) | DELETE Coachname FROM SPORTS

L [

Wnle the command to delete the structure of the table
o | Lo, w'l':Lv S TR ‘l‘,|‘ oo b o

i)/ '{ALTER TABLE SPORTS DROP Coachname [
|
|
|

- |
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23 PUShpa‘Wﬁting a program to create a CSV file “item.csv”” which will contain
item name, Price and quantity of some entries. He has written the following
code. As a programmer, help him to successfully execute the given task.

{ ) ! . h
import | . .. ...  #Linel
def addInCsv(item,price,qty): # to write / add data into the CSV file
fFopen( item.csv',. . .1 Y # Line 2
csvFileWriter = csv.writer(f) '
csvFileWriter. writerow([item,price,qty])
fclose() #csv file reading code
def readFromCsv(): # to read data from CSV file
with open(' item.csv','1") as csvFile:
newFileReader = csv.. (csvFile) # Line 3
for row in newFileReader: '
\ print (row[0],row[1],row[2])
: csvFile. . # Line 4
addInCsv("Note Book', 45, 100) .

+ | addInCsy(Text Book, 60, 150) 7\ 5 e v
a?ﬂns;?XS:ﬁallP .,‘.'l’,_:'\lozu.l.OQ')‘\ .;f.“";‘k'{ I T B S R R T
addInCsv(Bencil', 5, 200), . 7 . R G g D
readFromCsv() - ' #Line 5
(2) Name the module he should import in Line 1., . 1
(b) In whichmode, Pushpa should open the file to add data info the file 1
(c) Fill in,the blank in Line 3 to read the data from a csv file. 1
(d) Fill.inthe blank,in Line 4 to close the file. | 1
(e) Write the output he will obtain while executing Line 5. 1

1 [gq e - Part-B SRS
e Cdbpom w e Wi
NEW 1 i R TS T S Section-I _
24 | Evaluate the following expressions: . A i 2
! a) 6"*3 i+ 4%%2//5-8i .‘.;\'{Zli‘;‘."r |
|b) 10>5and7>i120rmot18>31r1 . ; _

25 ‘7| What is:the| aiff¢repge between hub and switch? Which is more erferable ina|2

| large metwork of computers'and why? . !

v leala sy (e oos o & OR . |

| Differentiate:between WAN and MAN. Also give a n example of WAN.
26 | Expandithe following terms: |
|a."SMTK :\b. XML c.LAN d.HTTPS
27 Differe_i_ﬁiéie‘betwgenigl_obal};‘and_s local variables with a ?ulltable example
R O T LN Tt P IR TR TR GO (Rt RPC SR | D | R
| ;2:(;)1' 'éacb]\“%"::’. | ,v :‘-— f],"” l) _ : v'.“- LU '
i :!h-ul 't‘l;‘i.i L=bd ~‘:“' OR' 7 : - , . .
| Explain the:significance of return statement word used in a function with the
help of a suitable example. :
28 | Rewrite the following, code in P)'/thon afier removing all syntax error(s). 2
| Underline each correction done in the code.

NN [N . ! Wit W

|
._U P ;- i [ N I8) lx 4— ) ;



e .
2 250 = Number L
WHILE Number<=1000:
if Number=>750:
print Number S ‘ 1
Number=Number+100 T
else b TR o
print Number*?
Number=Number+5(
29 | Consider the following code?:
import random
x=3
N = random.randint (1, x)
for i in range (N):
print(i, ‘#°, i+ i)
a) Whaf i the minimum ancI maximum number of tlmes the loop will
, ~executd?in v Gl
N sy b cted from
b) quﬁﬂt’l yvh}ch line of output(s) out of (1) to (iv) will not be expe
the p; m?, u b
i o#ﬁ?% ) ii. 1#2
i, 243 14,10 iv. 344 | ‘
+ 30K undsrstand by Cand i Gi ble |
' ol understand by Candidate Keys in a table? Give a suitable |
¥ gital?;pdlg Zf Candidaté’ Keys!from a table contammg some meaningful data.
31 | Differentjate between fetchone() and fetchallO methods W1th suitable examples
for each.
| 32 lefenenjtlate between CHAR and VARCHAR datatypes. Which is more
efﬁc1ent m terms of memory? ,
33. | Find and write the output of the following Python code: |
Vo ts heo doboand e i ! IRTENTRNY |
et Change(P ,Q=40): |
' ' P=P+Q - |
(1.4 QTPQH Ol DA s " | L T O f
0o prmt( P,"#",Q) |
- ¢ return (P) |
R=100 i ‘[
S=200 |
R=Change(R,S) | y
“'. I)”m(R n#n S) .
'S=Change(S)
."Il,‘llil YRR ' Vot UL [y 4 ol '

\
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l e o Section- 11
A
r'rlte a python Function that accepts a string and calculates the number of
ppercase letters and lowercase letters. '
Sample String : Python ProgrammiNg . [
Expected Qutput: ]
Original String : Python ProgrammiNg
- No. of Upper cage characters : 3 -
L No. of Lower case characters *]4 '
35 | Write a’ ‘Python program to find the number of words in a text file.
‘ i | OR
= Write a Python prdgram to count all the line having 'a’ as last character

Write the outputs .’df the SQL queries (i) to (iii) based on the relations Teacher
and Posting given below:
Table : Teacher

|T_ID |Name |Age Department 1.} Date_ofoin|Salary |Gender
i PA |CompuerSe T0RIZ017 12000
2.9 Sitay. 3L \[History:. ., . [24/03/2008 * [20000
3 ','Q,:: ?pd!y /132" |Mathematics |12/12/2016 30000
1450 :-,e.le,mxit'i ~#|33. 1 (History 1+ . [01/07/2015. [40000
SF
6
7

T RAT 42 Méfthén}étics 05/09/2007 |25000
Do i o - el SO 1 ' |

ik [(Suony, . [ 5Qan|History i i 27/06/2008 ;; (30000
uresh |44 |Computer S¢ 'f"'2,5,./02/%012' 21000

2 &g 7 2| 7 £

) G a Yoy o el U S @l n )
8, {Supaina |33, [Mathematics  131/07/2018 120000,
Vomting 20 by
Table T Pogting — — | k
PID “|Repartment ), Plee | 11 o aE
1 hH??'tory —!A “~1- | ntAgra 'la i ! h":;‘;(‘:? f
2 | M?ﬁthematfiC? [x HRalpur i I I R :,’;m O :
?  |Gpmouter Science (Gurgaon| i, . g |
| [ IR ‘v - | . VLT IA.... | ‘ii
I SELI}QI Dcpar;tmcnt%vcp,qnp(*) FROM Teacher GRQUR BY, IDc.:partmcnl;
1L SELI\ECT Max(l?a;c_? f_qun),Min(Dﬂl,e_of_Join) FROM Teacher;
Live o ‘ | ] d o T Vo | | (
ru. S‘EI;ECT Te‘acher..nzime.Tcz}cher.Pcpartmcnt, Posting. Place FROM
| Teacher, l’oslin;’; WHERE*Teacher.Department = Posting, Department
|- . { \ )
- | AND Posting Place="Gurgagn"; | R S
37

Write a{funqtion iri Python Push(Arr, vdlué),‘ whqu: —An is a list '(’)Il. St nng; —

From this list push all the Stfing's‘élarting' with “a” or ‘?g\illﬁ)o"a stack

N § -




implemented by using a list. Dig
: ) . play the st Iy
erwise dis : 1€ stack if jt ——
oth ot play appropriate error message, has at least One elcmé;ﬁ S

OR

SECTION- II1

38

Vidya Senlor Secondary Public School in Nainita] is ‘setting up the network |
between 'its different wings. There are 4 wings named as SENfOR Snetwork
JUNIOR(J), ADMIN(A) and HOSTEL(H). - >
Distance between various wings are given below:

Wing A to Wing S 100 m
Wing A to Wing ] 200 m
Wing A to Wing H 400 m
WingStoWingJ . .1 .« ' i5, .| .. 300m ‘ r ¥
- J : ‘ E L ot
WingStoWingH ... & . |, ..100m
Wing J to Wing H 450 m
S0 G- Wing o |2 Number of Computers
Wingia o 1 CEC0R200 wloas 0 L B, 0y
o VES o o 380 | e by
B AN B I -
[P SN s e NPy A
ing H 25

1. Suggesta suitable Topolcggy fdr'neﬁvdx‘king the computers of all wings.
2. Namsg;the most syitable wing where the Server should be installed.

. Justify youranswer.. .o L 0 i
Suggest W};Frqlqlll. Sth}llﬁi I;Ipb(sj){S}JVltCh(eS) be placed in the network.
W ic'fh' communication medium would you suggest to connect this
~ §¢hool with its main branch in Delhi 7

5. What is router ?

e

39

Considerthe' following tables' Séndcr and Recipient. Write SQL commands for

the statcmé:n'tg (a).to (c) and give the outputs for SQL queries (d) to (e).

Sender:..t! . o
SenderID. | SenderName | SenderAddress | Sendercity ;
NDO] ~ " "| R Jain 2. ABC Appls New Delhi |
MUO02-2::| H Sinha 12 Newtown Mumbai |
MUI15"" [ S Jha | 27/A, Park Mumbai |
NDS50 ‘""" | T Prasad 122-K.SDA New Delhi

Recipients ; |
Recl | Sender] | RecName | RecAddress recCity ;
KOO .[NDO1 «|R. ' |5, Central Avenue | Kolkata )
NDO.|MU02 .|S ..: .1l |116,A-Vihar = .. | New Delhi f
MU1 .| NDO1 .. | H Singh 2A. Andheri East . | Mumbai |
MU3 [ MUIS _|PK ‘| BS, C S Terminals | Mumbai i
ND4 | ND50 S Tripathi | 13, BI D Mayur . | New delhi !

(’lll:’ o TR m e g 7
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a. To dlSPM‘ndme SenderAddress, RecName,
RecAddless for every Recipient

b. To display Recipient details in ascending order of RecName

c. To display number of Recipients from each city

d. SELECT A. SenderName, B RecNdme From Sender A, Remplent B Where

A.SenderlID = B.SenderID AND B. RecC1ty ="Mumbai’;

e. SELECT RecName, RecAddress From Recipient Where RecCity NOT IN

(‘Mumbai’, ‘Kolkata’) ;

T

40 |A buwy file "Book. dat" has structure/BookNo,Book_ Name,Author, Price].
i. Write a user deﬁned functnon CreateFile()to. input data for a record and add
to Book dat. e
ii. Write a functlon CountRec(Author) in Python which accepts the Author
; name as parameter and count and return number of books by the given
Author are stored in the binary file "Book.dat"
~ OR
A hmary 1ﬁle "STUDENT DA‘I‘" has structure (admsswn number. Name
Percentage): Write a function countrec() in Python that would read contents
of theifile!YSTUDENT.DAT" and display the details of those students whose
percentage'is above'75. Also'display number of students scoring above 75%.
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